MAEEGEL2022ER =% LEME=RANREERAE RER

1.

‘l -
Sz =1+ Mz R TR R IR
AB—%R BE-SR CE=SK DENERK

2.

aﬂ%%{;:;@’ﬂ:{xﬁx—xz 20} B={y|y=log(x+hxed} NUAH(CUB)?\j

ALRBH B 23 ¢ 02 p¢

%\

BS REWHF (@, VRN Uk, 570%, mp 4\ piER

1
A. -2 B. 2 (C. -2 p. 2

4.

£ LPEY B b XU 2R — 2T R AR SV =0, B R B 0

23
A V3 B3 \C/ D2

5. -~

Eﬂ@%ﬁf{x}:lﬂ(:{+ﬂxg+l) , j(m—2)+f(?z)=0, )F!Um+pg:

A 1+2 B, 1 C. 2 D. 3

6. -

FITR=E T E R, Wz LT ERERE

Fia Fia
. L 1+— 1+=
o ™ o A 12 B &
\ -
lI
Fia
1+Z
I'h—\ C. 3 D l+rm
1. \-\'
4,




